VINTAGE MORTISE 6

MONSELICE A 2

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 2 3 5 SET PUNTI |PARTITE
A XITA| XA X|AI XA X A XA X|A|X
A [FRANCESCHINI X |BELLOTTO 1117 (10112 7 |11 7 |11 113(35(41|0 | 1
B BERTON Y INEGRELLO 11,8 |13 [(11/20| 18 3/01(44|37|/1|0
DP|CIBIN-BERTON DP BELLOTTO-NEGRELLO| 9 |11 /11| 6 | 6 [11 /11| 3 |14 12| 3 | 2 |51 /43| 1 0
C |CIBIN Z PERARO 11,6 |6 [11[11| 7 12|10 31114034/ 1|0
B BERTON X |BELLOTTO 12|10 (11,4 | 6 |11 11| 3 3| 114028 1
A |[FRANCESCHINI Z |SANTATO 9 |11/10(/12| 5 | 11 03243401
C [CIBIN Y INEGRELLO 11,1 (118 |11 9 3/01(33/18| 1|0
B BERTON Z |IPERARO 1|7 |11 3 |11 3 3/01(33/13|/1]0
C X 00
A Y 00
TOTALI| 19 | 10 |300/248| 6 | 2




